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1. sin“z =
20
(a) *2—"7} =7 Ex + ax — g.ﬁt S (correct)
6 10 4
(b) 224 s s+ o

32 (&) (7)?
N R R
(c) 3~ 57 —l—zx —6—'1; o+

pa gt gt gt

(d)l—a-’-ﬂ 6+§~—....

&9 -1 nx2n+1 2
() 1- (g((Zn)—F ] )

(correct)
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3
& / |z° — 4| dz =
0

(correct)

(correct)
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5. The area of the region bounded by y = z?Inz and y = 4In z is equal to:

(a) —In2 - — (correct)

(a) 20 — (correct)
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7. Given that the base of a solid is the region bounded by the parabolas y = z? and
y = 2 — 2. The volume of the solid if the cross-sections perpendicular to the z-axis
are squares with one side lying along the base is :

64
15
]
15
32
15
28
15
16
15

(correct)

8. Using the method of cylindrical shell, the volume generated by rotating the region
bounded by y = 23, y = 0, z = 1 about y = 1 is equal to:

5T
14
107
14
E
14"
16
(d) ﬂﬂ'
3 .
14

(correct)
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9. The average value of f(z) = sin® z cos® z over [—, 7] is equal to:

(a) 0 (correct)

1
10. / ———dz =
VT — Jx
(Hint: Substitute u = /)

(a) 2/ +3¥Yz+ 6z +61n |z — 1| +¢ (correct)
(b) VE — Sz +3In[¥z 1| +c

(c) ﬁ{‘/aﬁ+3{*/§+éln|ml+c

(d) 6z +6In|l — x|+ ¢

(e){‘/_-—%\3/5+61n \Q/_—é‘—i-c
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1
11. The length of y = In(1 — 2?) over [0, 5] is

L ;
5 (correct)

12. The surface area that obtained when the curve y = sin(nz), 0 < z < 1 is revolved
about the z-axis is equal to:

2
(a) 2v1+ 72+ —In(m + V1 + 7?)
m

(0) 217 +In(v/T+ )
(©) %m(\/ﬂ 1+ 2)
(@ 2 in(r? + VI F )

(e) %ln(w + V72 +m)

(correct)
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13/d:p_
") Ver—1

(a) 2tan~1(v/e* — 1) + ¢

MASTER

(correct)

(b) %tan_l (%x) S
(c) gtan_l(\/e_“’ —1)+c

(d) —2—tan_1 (g) @

e

2
(e) gtan_l( e*—1)+c

14./ 22 dy =
0

(correct)
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15. A formula for the general term a, of the sequence

BAs 6T
5'25°125" 625'3125" "

18

n—1n+2

(a) (=1)

iy e

MASTER

(correct)

5n
n_1M +2

(b) (-1t

,n>0

sin 2n

16. Th =
€ SeqUeNce Gy, = 0

N

a) converges to 0

(
(

b) converges to 1

)
)
(c) converges to 2
(d) diverges
)

(e) converges to —1

(correct)
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17. The series i < 2 -+ —;>
c~\e"  2n(n+1)

3
(a) converges and the sum is > + 62 (correct)
e =
(b) converges and the sum is .
(c) converges and the sum is -
e e
(d) converges and the sum is
1
(e) converges and the sum is ki ;
e —
- 1
18. The series Zln (1 Sl —) is
n
n=1
a) diverges (correct)

(
(b) converges to 0

)

)
1
(c) converges to -
(d) converges to 2
)

(e) converges to 3
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o0
19. The values of p for which the series Z n((1+ (2n)?)? is convergent.

n—Il
(a) p<—2 (correct)
(b) p<1
(c)p<0
(d) p<—1
(elip=22
Inn
20. The series Z 7
i=1
®Inz
(a) converges by integral test / —dr =1 (correc!)
1 T
o
1
(b) converges by integral test / n_;: de'= %
1 T
1 1
(c) converges by integral test / n_2:13 da— 3
1 T
. “Inx
(d) diverges by integral test / —5 dz = 00
1 X

: : “Inz
(e) diverges by integral test ——glip = =3
1
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o0
arccotn
21. The series Z arccovn

2-1
n
n=1

(a) converges by comparing with

(b) converges by comparing with

(0,0)
S
7‘( ———.
2-1
n:ln
o0
1
WZ 01
=

1

(0,0)
di by comparing with = —
(c) diverges by paring ;nm

(0.¢)
1
(d) diverges by comparing with 7 Z 51
n—I

(e) diverges by limit comparison test

— 3nd+n
22. The series a, where a, = ——
Z ' " Vit

(b) diverges by limit comparison test with { b,

(a) diverges by limit comparison test with (bn
(c) converges by limit comparison test with

(d) converges by limit comparison test with

(e) converges by limit comparison test with

s o

bn

bn

by

(correct)

(correct)

[ N S
§Iw|°"’ w §I~|°° NAINGD
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n cos nm

23. The series Z an

n=1
(a) a convergent alternating series
(b) a convergent geometric series

)
)

(c) a divergent p-series

d) a divergent geometric series
)

(e) a divergent alternating series

— (n + 1)32+1

L 102
24. The series Z (
n—i

a) diverges by the ratio test

Page 12 of 14

MASTER

(correct)

(correct)

(a)
(b) converges by the ratio test
(c) converge by the root test
(d) converge by integral test

)

(e) converge conditionally
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x—2)“

25. The series Z converges for

a) z € L, 3]

MASTER

(correct)

(a) z €

(b) z € [1,3) only

(c) z € (1, 3] only

(d) all values of z
) @

(e) z € [1,4]

1)n 2n+1

nl(n + 1)122°+1

26. The series Z converges for

a) all values of z

(correct)

@
d

(e

(a)
(b)

) (=
(d)
)
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27. The power series representation for the function is

“F
AP &) e _
=
(b) g ( 19):x2n
© né(—l)”xjf 1
Oppas
© 5
28. The Maclaurin Series for f(x) = sinhz is
© . ontl
(a) ; g ()
o
COREIEE
@) fj =




